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21 ERHZFETERSEREL
TR -4 R H RIS o LRz RE bR B R IF
£ i 111.10.08~09 |111.11.23~24 [111.12.15~16|111.10.09~10|111.11.24~25 | 111.12.14~15 [ 111.10.07~08 | 111.11.29~30 | 111.12.12~13 | 111.10.08~09 | 111.11.25~26 | 111.12.13~14 ;_g
TSP )
s 24 -} pE B 50 99 99 63 79 103 52 63 137 56 113 109 —
(ng/m’)
PM“; T 22 88 65 30 73 58 25 44 73 27 62 61 100
(pg/m°)
PMz'i 24 | i 14 — — 15 — — 17 - — 14 — — 35
(pg/m’)
S0, PN T 0.002 0.002 0.002 0.002 0.003 0.004 0.006 0.003 0.023 0.002 0.019 0.007 0.075
(ppm) RRESSYT 0.001 0.001 0.001 0.002 0.002 0.003 0.001 0.002 0.008 0.001 0.006 0.003 —
NO, oA LT E 0.02 0.029 0.045 0.028 0.029 0.037 0.028 0.026 0.041 0.018 0.035 0.03 0.1
(ppm) pTLiai 0.009 0.016 0.024 0.015 0.017 0.024 0.007 0.018 0.027 0.009 0.02 0.021 -
NO PN T 0.006 0.01 0.021 0.004 0.022 0.034 0.061 0.011 0.037 0.007 0.018 0.03 —
(ppm) pEa 0.001 0.003 0.006 0.001 0.003 0.007 0.004 0.005 0.013 0.002 0.006 0.009 —
co oA LRI SE 0.412 0.43 0.56 0.549 0.43 0.749 0.715 0.469 2.936 0.31 154 1.08 35
(Ppm) B 8 BT HE 0.293 0.36 0.34 0.439 0.32 0.503 0.363 0.351 1.319 0.233 0.88 0.685 9
0, oA LT E 0.07 0.078 0.069 0.068 0.064 0.062 0.061 0.048 0.058 0.066 0.056 0.065 0.12
(Ppm) | B 8 | EETEE 0.062 0.059 0.053 0.052 0.047 0.039 0.049 0.018 0.036 0.05 0.031 0.048 0.06
’\('F')\g:)c p Lo 0.07 0.09 0.19 043 17 0.61 0.3 0.11 0.36 0.16 0.11 0.26 —
4 (ug/md) 24 | PE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (ug/m?®) 24 | PE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
F (g/m®) 24 | PE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ng/md) 24 ) B B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
Si(ng/md) 24 ) B B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
@ A (ug/m?) 24 ) pE B 7.69 7.21 6.63 31 7.81 3.69 11.9 2.12 476 5.06 172 4.99 —
AR o @ @ AE RS oo T3 B AL N AR LI € ! Ak # —
b i (M/s) PR 16 2.4 2.7 0.9 06 0.9 14 14 14 07 23 13 -
& 24 | B
2R (C) eSSl 27.2 27.1 22.1 27.3 26.8 19.8 274 27.9 20.9 27.6 26.9 19.9 —
HHRE (%) eI 79 83 75 70 82 58 73 82 58 73 73 61 -
WA g/m¥ » 6.0 7.0 6.2 6.7 6.1 6.4 6.3 7.2 -
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Ewkd PR MAERRS TR T 111 & 10 7 10~11 p #4 i o Ep
HELEE LS > AR 24 P kg 111 E102 TP o
119 23 p 128 15 pH 7> ExBH I G 20400 > BEPEES T
5 2 4 o
AFE BB (L ~Le L) ~ BB (Le ~La ~Le) ~ BHET ((Lo

sLae o~ Le)wd B3 - B RIRB %i%ﬂ? FE1 % BiTZ A3 ERIET o Ly o
Le 2 Lo 2 PFERIE 5P E- BP F2 5 - EHFRES EHE > 224
T2 PIERBREBEATIRE - FH P H O PIEREARERE > 7 X

R AEE RS TR RS Rl cLe L )R S BB BERE &
BAEA e T plEEEL 2~4 5o

42 Ll T REFREL
H >t dB(A)
Bz LR Z R p Hp Leg L max Ls L L« ’E i+ % 5E 5
*3+ % PJRF%+¢ < [111.10.10~11| 50.7 71.1 51.7 50.1 487 | o oo
EERER S — [ [ 7 [ 70 [ & | TP
B AR 111.10.10~11| 60.1 92.3 61.7 58.4 55.6
B BHE 111.10.10~11| 59.0 94.0 60.3 59.8 54.5 % - AE 4T
B ﬂ‘@q ¢ 111.10.10~11| 66.8 99.6 68.9 61.1 56.5 -
B 5 — — 60 55 50
43 LR TREFREL
H i+ dB(A)
Bl L 7&;— i:. Bl P H Lveq L vmax Lvio » Lvio = ’E #‘J W ZE‘F“ 5]
A3+ 4 PRAx¢ < [111.08.08~09 33.3 46.5 37.4 31.6 AT
A RAE 6 — — 70 65 -
B R 111.08.08~09 32.0 59.9 33.7 30.1
g 111.08.08~09 31.2 52.1 32.5 30.0 £
R 111.08.08~09 31.9 54.7 35.0 30.3 .
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%3 3 TRIEP S F-kE -pH-DO-BODs~COD~SS~ @A ~ 5P &
SHERE R RE 3§ R F (T ER - E S
’f' SO L AN 7 U A S ,\) ~ B f& N L,\gg'ﬁgﬁ s d R s AR
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3B IEEETE—Pd TAERY- UBBTRNE 11 £ 45T pHee e
206 Lplshih B OR L RIS £ AL
z ¥
2k qj
7 B MDL | A. A. Ax B. B. B o of Cs ~
0 ;-]
(H =)
i
oH 5 8.2 8.2 82 | 83 8.3 8.3 8.2 8.2 82  |75985
K E(°C) - 25.9 255 | 252 | 267 | 265 26.2 26.7 26,5 26.4 -
23 £(mglD)| - 7.0 6.8 66 | 69 6.8 6.6 6.9 6.6 6.5 >5.0
T =40
RaEEm |0 | g2 15.4 98 | 238 5.0 3.0 5.1 5.0 73 -
(mg/L)
@ 7 (psu) ; 324 325 | 325 | 326 | 326 32.6 32.6 326 327 -
SPEm | - 33 - - 32 - - 31 - - -
OEEE
z L1 10 | 041 059 | 079 | 051 | 047 0.60 0.49 0.52 0.38 <3.0
(mg/L)
tEZ3E
15 | 29 26 24 | 29 2.2 2.1 23 2.9 3.0 -
(mg/L)
wak(mg/L) | 0.002 | 0.034 | 0034 | 0.055 | 0043 | 0044 0.049 0.042 0.035 0.062 -
wF (mg/l) | 010 | 045 042 | 038 | 042 | o041 0.49 0.47 0.61 041 -
%5yl | 001 | ND |0.00038242] ND | ND ND | 0.00383907 |0.003676505|0.002233382|0.002703965| —
s LS 4
REVNE ) 009 | 042 039 | 035 | 040 | o038 0.46 0.43 0.38 -
(mg/L)
AR5 | 001 | 003 002 | 002 | 001 | 002 0.02 0.03 0.03 0.03 -
(mg/L)
@ (mg/ll)| 006 | 013 007 | 010 | 006 | 007 0.07 0.11 0.15 0.13 -
EAERE | 0002| ND ND | 0005 | ND ND ND 0.005 ND ND -
(mg/L)
AR 0007 | ND ND | 002 | ND ND ND 0.02 ND ND -
(mg/L)
75 (mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
wm(mg/ll) [0.0029]| ND ND ND | ND ND ND ND ND ND 0.005
e ; -
crUnoomy| 10 55 20 30 35 90 10 120 35 15
#(mg/L) |0.0003| 0.0008 | 0.0008 |0.0008| 0.0008 | 0.0007 | 0.0008 0.0008 0.0008 0.0008 | 0.05
4(mg/L) |0.00001/<0.00001 <0.00001 <0£00 <0.00001|<0.00001| <0.00001 | <0.00001 | <0.00001 | <0.00001 | 0.05
#(mg/L) | 0.0050 | <0.0050 | <0.0050 <0'g°5 <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.005
A (mg/L) |0.00015] ND ND ND | ND ND ND ND ND ND 0.05
#(mg/L) |0.00001] 0.00048 | 0.00060 |0.00027| 0.00024 | 0.00028 | 0.00033 | 000036 | 000029 | 000025 | 0.001
4 (mg/L) |0.00001] 0.00024 | 0.00022 |0.00023| 0.00193 | 0.00278 | 0.00021 | 0.00043 | 0.00023 | 000024 | 0.03
s-(mg/L)  |0.00001] 0.00022 | 0.00024 |0.00014| 0.00008 | 0.00011 | 0.00005 | 0.00013 | 0.00018 | 0.00009 | 0.1
#(mg/L) |0.00001] 0.0023 | 0.0017 |0.00202| 0.00185 | 0.00208 | 0.00206 | 000297 | 000212 | 0.00217 | 0.01
L#*% | yp.| ND. | ND. | ND. | ND. | ND. N.D. N.D. N.D. N.D. 0.1
(mg/L)
250
ND. | ND. | ND. | ND. | ND. | ND. N.D. N.D. N.D. N.D. 0.1
(mg/L)
$ | *H™ ) Nyp. | ND. | ND | ND. | ND. | ND. N.D. N.D. N.D. N.D. 0.1
s Lo
gl F=" b | ND. | ND. | ND. | ND. | ND. N.D. N.D. N.D. N.D. 0.1
(mg/L)
H#12N
i 2| <0.000 )| ) 50025| <0.00025 | <0900 | <0.00025(<0.00025| <0.00025 | <0.00025 | <0.00025 | <0.00025 | 0.1
(mg/L) 25 25
=P Db | nD. | ND. | ND. | ND. | ND. N.D. N.D. N.D. N.D. 0.1
(mg/L)
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